
Re-arranging the FVA formula

𝐹𝑉𝐴 = 𝐶𝐹 ∗
1 + 𝑟 ! − 1

𝑟 ∗ 𝑟

𝐹𝑉𝐴 ∗ 𝑟 = 𝐶𝐹 ∗ ( 1 + 𝑟)! − 1 𝑑𝑖𝑣𝑖𝑑𝑒 𝑏𝑦 ( 1 + 𝑟 ! − 1)

𝐹𝑉𝐴 ∗ 𝑟
1 + 𝑟 ! − 1

= 𝐶𝐹

𝐶𝐹 =
𝐹𝑉𝐴 ∗ 𝑟
1 + 𝑟 ! − 1

𝐹𝑉𝐴 = 𝐶𝐹 ∗
1 + 𝑟 ! − 1

𝑟
𝑺𝒐𝒍𝒗𝒊𝒏𝒈 𝒇𝒐𝒓 𝑪𝑭 𝑺𝒐𝒍𝒗𝒊𝒏𝒈 𝒇𝒐𝒓 𝒏

𝐹𝑉𝐴 = 𝐶𝐹 ∗
1 + 𝑟 ! − 1

𝑟 ∗ 𝑟

𝐹𝑉𝐴 ∗ 𝑟 = 𝐶𝐹 ∗ 1 + 𝑟 ! − 1 /𝐶𝐹

𝐹𝑉𝐴 ∗ 𝑟
𝐶𝐹 = 1+ 𝑟 ! − 1 +1

1 +
𝐹𝑉𝐴 ∗ 𝑟
𝐶𝐹 = 1+ 𝑟 ! ln()

𝑙𝑛 1 +
𝐹𝑉𝐴 ∗ 𝑟
𝐶𝐹 = ln( 1 + 𝑟 !)

ln 1 +
𝐹𝑉𝐴 ∗ 𝑟
𝐶𝐹 = 𝑛 ∗ ln(1 + 𝑟)

ln 𝑥" = 𝑦 ∗ ln(𝑥)

𝑙𝑛 1 + 𝐹𝑉𝐴 ∗ 𝑟𝐶𝐹
ln(1 + 𝑟) = 𝑛

/ ln(1 + 𝑟)

𝑛 =
ln 1 + 𝐹𝑉𝐴 ∗ 𝑟

𝐶𝐹
𝑙𝑛 1 + 𝑟

𝑆𝑜𝑙𝑣𝑖𝑛𝑔 𝑓𝑜𝑟 𝑟 𝑟𝑒𝑞𝑢𝑖𝑟𝑒𝑠 𝐸𝑥𝑐𝑒𝑙
𝑜𝑟 𝐹𝐼𝑁𝐶


